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Chapter 3 Review
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1. Explain the difference between what is being asked in the following questions and complete
the questions.

a} Factor b} Solve by Factoring
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2. What is an extraneous root? Give an example.
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3. What is the discriminant? What does the discriminant tell you? Give examples
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4. Factor the following polynomials completely.
(a) 9(x — 1)% — 100y?
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5. Solve each equation by factoring.
(a) X*+7x+10=0

LY x12.) =0

X=-S
-2

(c) Bx?=72x—144

§K ~Fx +1494=0
T % %

K= O x 1€ =0

(% ~6 Xx-3) =0

X=( x=

(e) 4’ +8x+3=0

ol
(2%43 ) (2241) =0

=%
=
K= /Z«

(b) x*-x=6
Xk 4620
(-3 Y #2) =0
X= 3
%2

(d) 5x* +20 = -25x
SX'ASX +20 =
S Ky E .
X"+54 +4 =D
(X +4 Lx4)) =O
X~
X=-)
(f) 2x* 5% =0
X(2e7)=0
X=0

X :_g_-ﬁ'
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6. Write a quadratic equation that has the following solutions,

(a) -5, 7
s Y30
/)(1- Px+Sx-335=0
Xt 2K -35 2D

(b) 2,2
[x-Dpx - )=0
B - U -6 +8=D
2= 100 +& 2O
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77 Solve each eguation.
(a) 8x*—7 =249

Gt ash =
x>z 32

K= % 133 4@

lc) Z(x—Z)zm 18
(XVZ) =9
%-2 > 59

k= 2+ 3 7?1 |
£=a-3 z~1)

8. Solve each equation by completing the square.
{8) 3x* —12x+9=0

3;42-0.)(‘ = 'c,

K= -Hqx = -3

UK Y = |
(%-2)"=1—"7
x-2=% | I?“‘%)) L

(¢) —4x?+24x—21 =10

xi-bx = Zl
X l/L/
—bx d’ﬁ =2 ', 3
z
(% -3) = ."_1.,5._ ) =
xX=3 'i’,'_\y? = #é__?_’i;
EX e S
9. Solve each equation with thé quadratic formula.

(a) 4x’—3x—27=0
= gt
K=-[-D7 |

~3)%- [ 4)2?)
2(4) B
EEREITTS)

(b} (x + 5)2 = 49
x+ S =249
K=S++ ¥

g
5 -
12
= -
/2(/ ,; t S ~1’s
X Z - & - ‘
s7S 1
e, S,
b) ¥ —12x+31=0
K =12 -5 |

X 130 = —3] + 3L
(x-6)" 55
ﬁ;ﬁﬁfﬁ

(b) x*—10x+22=0
r——/__l
K= 10t [(o3=yuy 1)
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10. Use the discriminant to determine the number of solutions to each guestion.

(a) 2%3-9x+4=0

b>=dac 2O
=0 (Y1)
=gl -32

=q4q
{€) -6x*—3x+9=0

v>-Ypyc 7O
() 4(6)5)

= G436
- 225 . [Leabecots

11. Solve the following.

(8} (x-1=2 %
/xz,o( -d ;'D

(-2 Jxr1) =0

' /2("/1\

— a

[

(c) —2 — 3(x + 1)2 = —50

4 ~3(7@+l)2’: -4y
2 ‘
(D" -4

(/;vH\));IJo
K41 =21k
X=-1+Y =3

I B

(b) -6x* +7x-5=0

p2-dac £O
=Y (AY)

- 44 —\LD . :
ey | f0 200TS
{d) -x*—6x—9=0

vo-Ya =°

* () =y (+)Y-)

‘\\

2 36— 3L |
20 2 \ONE oot
tb) x(2x—3) + 40+ ) = (3 + 2%)

20 3k oY - L lx 2O
2x*-Bx - 220
(ax+1 ) %x-~2)=0
’L’”‘/‘L
K=

(d) 2(x +3)? —11(x+ H+ 15 =0 |t o= 3

207 ~Na41S =0

(-3 2 5) =0
swWo .0 XT3

(’N&/B ’})CX(’MB}S) =0
x (& 1) =0
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(e) §x2+§x=1>"f . (f) \/'__Zx—'7'+5-x
t a8 (an-% |=fXk-5

’)(24-2’)::’4- (&m ?) (@( 5,7)
/)(/ . +y =%

"Xlr')e,«-y = ax] A

(xt1)* = | 55 2 Ao g
XE 1 x432 =0 _ .
~LARAD dﬁ—#

-’&—: - +\§/SD \ (’F"é [x-Y ) =~ w;;i{
| @\eyﬁowous

11. The diagonal of a rectangle is 10 em. The length is 2 em longer than the width. Determine
the width. ardb %

)' I8 X K4 (’X-FZJL: 10 L

X2 e x2rdx sy 2100
(Qfx tYn-46 =C
2L z Z Z
F?42x ~ig =0
(=48 (%6 )

11. The height of a goif ball, in yards, is h(d) = —0.02d? + 2d, where d is the horizontal
distance the ball has travelled, in yards, after being struck. Determine how far the ball travels
- before it first strikes the ground. {Note: Think of what the height is when it touches the

K2

ground},

o
o (= —0.02d%42d

A — 1o =0

d (4-100) =0 _
}l/(j (sW:\;?oﬁWD
d= 10

4= 100yeuds
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